CUHYC, KOCUHYC | TAHIeHC rocTporo
KyTa NPAMOKYTHOIO TPUKYTHUKA

3naudims npacurvrul eapianm 6idnoeidi

|. Tpugyraur ABC — npamoxyrunit (£/C = 90°). Axmo Z4 = o;
=20cm; AC =12cm; BC =16cm, 10 sina 1 cosa
Binnoninno AOPIBHIOIOTH!

[N

2. Tpuxynlux MNP — npamoryruuii (LN = 90°); £P =p. Axmo
MP = 25c.u; MN = 150,11; NP = 20cn, To tg[ mopiBRIOE:

/O\f\ I' inma BiANOBIL.

3. Jlano: AABC — npamoryramit (ZC =90°); ZB = 45°. Arxmo
rinorenysa AB popisnioe 18cx, To kater AC aopiBHIOE:
A

A mm;
b 9J§c.u;
B 13 cx;

C B I' iuma BignoBigb.

A. lano: AMNK - npamoxyruuit (ZK = 90°), /M =60°. Axuo
rino'reﬂysa MN =10cm, 10 kater MK nopisutoe:

A 5~/§cx;

B Sca
B 5v2 car;

I‘ iHIAa BiAMOBiAk.

B 1;
5

; I' ivia BignoBigb.
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